分数のたし算② (1)



$$1 - \frac{1}{3} + 1 - \frac{1}{3} = 1 - \frac{2}{3} \quad 9 \quad 1 - \frac{2}{3} + \frac{1}{3} = 2$$

$$9 \ 1 \frac{2}{3} + \frac{1}{3} = 2$$

$$2\frac{1}{2}+1\frac{1}{2}=2$$

$$2\frac{1}{2} + 1\frac{1}{2} = 2 \qquad 10 \quad 1\frac{3}{6} + \frac{5}{6} = 2\frac{2}{6}$$

$$3\frac{2}{4} + 1\frac{3}{4} = 2\frac{1}{4}$$
 11 $1\frac{5}{9} + \frac{1}{9} = 1\frac{6}{9}$

$$11 \quad 1 \quad \frac{5}{9} + \frac{1}{9} = 1 \quad \frac{6}{9}$$

$$4 \frac{5}{7} + 1 \frac{3}{7} = 2 \frac{1}{7}$$
 12 $1 \frac{4}{8} + \frac{5}{8} = 2 \frac{1}{8}$

$$12 \quad 1 \quad \frac{4}{8} + \frac{5}{8} = 2 \quad \frac{1}{8}$$

$$\boxed{5} \frac{2}{9} + 1 \frac{2}{9} = 1 \frac{4}{9} \qquad \boxed{3} \quad 2 \frac{2}{4} + \frac{3}{4} = 3 \frac{1}{4}$$

$$6\frac{3}{4} + 3\frac{3}{4} = 4\frac{2}{4}$$

$$60\frac{3}{4} + 3\frac{3}{4} = 4\frac{2}{4}$$

$$14) 2\frac{4}{7} + \frac{2}{7} = 2\frac{6}{7}$$

$$7\frac{2}{3}+1\frac{2}{3}=2\frac{1}{3}$$
 (5) $1\frac{1}{7}+\frac{5}{7}=1\frac{6}{7}$

$$1 \frac{1}{7} + \frac{5}{7} = 1 \frac{6}{7}$$

$$8 \frac{3}{8} + 2 \frac{2}{8} = 2 \frac{5}{8} \quad 16 \quad 2 \frac{3}{4} + \frac{1}{4} = 3$$

分数のたし算② (2)

$$1 \frac{2}{4} + 2 \frac{1}{4} = 2 \frac{3}{4} \quad 9 \quad 1 \frac{3}{4} + \frac{1}{4} = 2$$

9
$$1 \frac{3}{4} + \frac{1}{4} = 2$$

$$2\frac{2}{3} + 1\frac{2}{3} = 2\frac{1}{3} \quad 0 \quad 1\frac{2}{3} + \frac{1}{3} = 2$$

$$10 1 \frac{2}{3} + \frac{1}{3} = 2$$

$$3\frac{3}{5} + 2\frac{3}{5} = 3\frac{1}{5}$$
 11 $1\frac{6}{9} + \frac{1}{9} = 1\frac{7}{9}$

$$1 \quad 1 \quad \frac{6}{9} + \frac{1}{9} = 1 \quad \frac{7}{9}$$

$$4 \frac{5}{8} + 1 \frac{5}{8} = 2 \frac{2}{8} \quad 12 \quad 3 \frac{4}{7} + \frac{4}{7} = 4 \frac{1}{7}$$

$$\boxed{5} \frac{2}{8} + 1 \frac{3}{8} = 1 \frac{5}{8} \qquad \boxed{3} \quad 1 \frac{3}{5} + \frac{3}{5} = 2 \frac{1}{5}$$

$$13 \quad 1 \quad \frac{3}{5} + \frac{3}{5} = 2 \quad \frac{1}{5}$$

$$6\frac{3}{5} + 1\frac{4}{5} = 2\frac{2}{5}$$

$$60\frac{3}{5} + 1\frac{4}{5} = 2\frac{2}{5}$$

$$140 2\frac{3}{8} + \frac{6}{8} = 3\frac{1}{8}$$

$$7\frac{5}{9} + 1\frac{6}{9} = 2\frac{2}{9}$$
 15 $1\frac{4}{8} + \frac{4}{8} = 2$

$$1 \frac{4}{8} + \frac{4}{8} = 2$$

$$8 \frac{4}{9} + 2 \frac{7}{9} = 3 \frac{2}{9} \quad 16 \quad 2 \frac{3}{5} + \frac{2}{5} = 3$$

$$16 \ 2 \frac{3}{5} + \frac{2}{5} = 3$$

分数のたし算② (3)



$$1) \frac{3}{5} + 3 \frac{1}{5} = 3 \frac{4}{5} \quad 9 \quad 1 \frac{4}{5} + \frac{4}{5} = 2 \frac{3}{5}$$

$$9 1 \frac{4}{5} + \frac{4}{5} = 2 \frac{3}{5}$$

$$2\frac{1}{4} + 2\frac{3}{4} = 3$$

$$2\frac{1}{4} + 2\frac{3}{4} = 3 \qquad 0 \quad 2\frac{3}{4} + \frac{3}{4} = 3\frac{2}{4}$$

$$3\frac{5}{6} + 1\frac{3}{6} = 2\frac{2}{6}$$
 11 $1\frac{2}{9} + \frac{2}{9} = 1\frac{4}{9}$

$$1 \quad 1 \quad \frac{2}{9} + \frac{2}{9} = 1 \quad \frac{4}{9}$$

$$4 \frac{5}{9} + 1 \frac{5}{9} = 2 \frac{1}{9} \quad 12 \quad 2 \frac{5}{8} + \frac{5}{8} = 3 \frac{2}{8}$$

$$2 \frac{5}{8} + \frac{5}{8} = 3 \frac{2}{8}$$

$$\boxed{5} \frac{1}{7} + 1 \frac{4}{7} = 1 \frac{5}{7}$$

$$\boxed{5} \frac{1}{7} + 1 \frac{4}{7} = 1 \frac{5}{7} \qquad \boxed{3} \quad 1 \frac{2}{6} + \frac{3}{6} = 1 \frac{5}{6}$$

$$6 \frac{3}{4} + 2 \frac{2}{4} = 3 \frac{1}{4}$$

$$\boxed{7} \frac{5}{8} + 3 \frac{6}{8} = 4 \frac{3}{8}$$
 $\boxed{5} 1 \frac{1}{9} + \frac{6}{9} = 1 \frac{7}{9}$

$$1 \frac{1}{9} + \frac{6}{9} = 1 \frac{7}{9}$$

$$8 \frac{3}{8} + 1 \frac{3}{8} = 1 \frac{6}{8} \quad 16 \quad 1 \frac{4}{6} + \frac{3}{6} = 2 \frac{1}{6}$$

$$16 \quad 1 \frac{4}{6} + \frac{3}{6} = 2 \frac{1}{6}$$

分数のたし算② (4)

$$1 \frac{4}{6} + 1 \frac{1}{6} = 1 \frac{5}{6} \quad 9 \quad 1 \frac{5}{6} + \frac{3}{6} = 2 \frac{2}{6}$$

$$9 1 \frac{5}{6} + \frac{3}{6} = 2 \frac{2}{6}$$

$$2\frac{1}{5} + 1\frac{4}{5} = 2$$
 $0 2\frac{2}{5} + \frac{3}{5} = 3$

$$3\frac{5}{7} + 1\frac{4}{7} = 2\frac{2}{7}$$
 11 $1\frac{2}{9} + \frac{5}{9} = 1\frac{7}{9}$

$$1 \frac{2}{9} + \frac{5}{9} = 1 \frac{7}{9}$$

$$4 \frac{6}{8} + 3 \frac{5}{8} = 4 \frac{3}{8} \quad 12 \quad 1 \frac{5}{7} + \frac{3}{7} = 2 \frac{1}{7}$$

$$1 \frac{5}{7} + \frac{3}{7} = 2 \frac{1}{7}$$

$$\boxed{5} \frac{1}{6} + 1 \frac{5}{6} = 2$$

$$\boxed{5} \frac{1}{6} + 1 \frac{5}{6} = 2 \qquad \boxed{3} \quad 1 \frac{3}{6} + \frac{4}{6} = 2 \frac{1}{6}$$

$$6 \frac{3}{5} + 1 \frac{4}{5} = 2 \frac{2}{5}$$

$$6 \frac{3}{5} + 1 \frac{4}{5} = 2 \frac{2}{5} \quad 4 \quad 3 \frac{3}{7} + \frac{3}{7} = 3 \frac{6}{7}$$

$$9\frac{2}{8} + 1\frac{5}{8} = 1\frac{7}{8}$$

$$8\frac{4}{7}+1\frac{3}{7}=2$$

$$1 \frac{5}{7} + \frac{3}{7} = 2 \frac{1}{7}$$

分数のたし算② (5)



$$1 \frac{5}{7} + 3 \frac{1}{7} = 3 \frac{6}{7} \quad 9 \quad 1 \frac{2}{4} + \frac{3}{4} = 2 \frac{1}{4}$$

9
$$1\frac{2}{4} + \frac{3}{4} = 2\frac{1}{4}$$

$$2\frac{1}{6} + 1\frac{5}{6} = 2$$
 $0 1\frac{2}{6} + \frac{4}{6} = 2$

$$1 \frac{2}{6} + \frac{4}{6} = 2$$

$$3\frac{5}{8} + 1\frac{4}{8} = 2\frac{1}{8}$$
 11 $2\frac{2}{8} + \frac{4}{8} = 2\frac{6}{8}$

11)
$$2\frac{2}{8} + \frac{4}{8} = 2\frac{6}{8}$$

$$4 \frac{6}{7} + 1 \frac{2}{7} = 2 \frac{1}{7}$$
 $2 = 3 \frac{4}{8} + \frac{7}{8} = 4 \frac{3}{8}$

$$\boxed{5} \frac{2}{5} + 1 \frac{4}{5} = 2 \frac{1}{5}$$

$$\boxed{5} \frac{2}{5} + 1 \frac{4}{5} = 2 \frac{1}{5} \qquad \boxed{3} \quad 2 \frac{4}{5} + \frac{4}{5} = 3 \frac{3}{5}$$

$$6 \frac{3}{4} + 1 \frac{1}{4} = 2$$

$$6 \frac{3}{4} + 1 \frac{1}{4} = 2 \qquad 14 \quad 1 \frac{3}{8} + \frac{3}{8} = 1 \frac{6}{8}$$

$$9\frac{1}{5} + 1\frac{3}{5} = 1\frac{4}{5}$$

$$7\frac{1}{5} + 1\frac{3}{5} = 1\frac{4}{5}$$
 15 $1\frac{1}{6} + \frac{2}{6} = 1\frac{3}{6}$

分数のたし算② (6)

$$1 \frac{6}{8} + 1 \frac{1}{8} = 1 \frac{7}{8} 9 1 \frac{2}{3} + \frac{2}{3} = 2 \frac{1}{3}$$

$$91\frac{2}{3} + \frac{2}{3} = 2\frac{1}{3}$$

$$2\frac{2}{7} + 2\frac{6}{7} = 3\frac{1}{7} \quad \text{(1)} \quad 2\frac{3}{7} + \frac{4}{7} = 3$$

$$2 \frac{3}{7} + \frac{4}{7} = 3$$

$$3\frac{5}{9} + 1\frac{5}{9} = 2\frac{1}{9}$$
 11 $1\frac{1}{2} + \frac{1}{2} = 2$

$$1 \frac{1}{2} + \frac{1}{2} = 2$$

$$4 - \frac{4}{6} + 1 - \frac{3}{6} = 2 - \frac{1}{6}$$
 $1 - \frac{4}{7} + \frac{4}{7} = 2 - \frac{1}{7}$

$$1 \frac{4}{7} + \frac{4}{7} = 2 \frac{1}{7}$$

$$5\frac{2}{4}+1\frac{3}{4}=2\frac{1}{4}$$

$$\boxed{5} \frac{2}{4} + 1 \frac{3}{4} = 2 \frac{1}{4} \qquad \boxed{3} \quad 2 \frac{3}{4} + \frac{3}{4} = 3 \frac{2}{4}$$

$$60 \frac{3}{5} + 2 \frac{4}{5} = 3 \frac{2}{5} \quad 40 \quad 3 \frac{7}{9} + \frac{2}{9} = 4$$

$$\boxed{4} \ \ 3\frac{7}{9} + \frac{2}{9} = 4$$

$$7\frac{1}{6} + 1\frac{3}{6} = 1\frac{4}{6}$$
 15 $1\frac{2}{7} + \frac{3}{7} = 1\frac{5}{7}$

15
$$1 \frac{2}{7} + \frac{3}{7} = 1 \frac{5}{7}$$

$$8 \frac{3}{5} + 1 \frac{1}{5} = 1 \frac{4}{5} \quad 16 \quad 1 \frac{5}{9} + \frac{4}{9} = 2$$

$$1 \frac{5}{9} + \frac{4}{9} = 2$$

分数のたし算② (7)

$$1 \frac{7}{9} + 1 \frac{1}{9} = 1 \frac{8}{9} \quad 9 \quad 2 \frac{2}{6} + \frac{4}{6} = 3$$

9
$$2\frac{2}{6} + \frac{4}{6} = 3$$

$$2\frac{2}{8} + 1\frac{7}{8} = 2\frac{1}{8}$$
 $10\frac{3}{8} + \frac{5}{8} = 2$

$$1 \frac{3}{8} + \frac{5}{8} = 2$$

$$3\frac{5}{8} + 3\frac{6}{8} = 4\frac{3}{8}$$
 11 $2\frac{3}{8} + \frac{4}{8} = 2\frac{7}{8}$

1)
$$2\frac{3}{8} + \frac{4}{8} = 2\frac{7}{8}$$

$$4 \frac{4}{5} + 1 \frac{2}{5} = 2 \frac{1}{5} \quad 2 \frac{3}{8} + \frac{5}{8} = 3$$

$$2 \frac{3}{8} + \frac{5}{8} = 3$$

$$5\frac{1}{3}+1\frac{2}{3}=2$$

$$\boxed{5} \frac{1}{3} + 1 \frac{2}{3} = 2 \qquad \boxed{3} \quad 1 \frac{2}{5} + \frac{4}{5} = 2 \frac{1}{5}$$

$$6 \frac{4}{6} + 1 \frac{5}{6} = 2 \frac{3}{6} \quad 4 \quad 1 \frac{6}{7} + \frac{1}{7} = 2$$

$$1 \frac{6}{7} + \frac{1}{7} = 2$$

$$7\frac{5}{7} + 1\frac{5}{7} = 2\frac{3}{7}$$
 (5) $1\frac{1}{8} + \frac{7}{8} = 2$

$$1 \frac{1}{8} + \frac{7}{8} = 2$$

$$8 \frac{2}{4} + 3 \frac{1}{4} = 3 \frac{3}{4} \quad 16 \quad 2 \frac{4}{8} + \frac{5}{8} = 3 \frac{1}{8}$$

分数のたし算② (8)

$$1 - \frac{1}{2} + 3 - \frac{1}{2} = 4$$

$$1 \frac{1}{2} + 3 \frac{1}{2} = 4 \qquad 9 \quad 1 \frac{2}{8} + \frac{2}{8} = 1 \frac{4}{8}$$

$$2\frac{2}{9} + 1\frac{8}{9} = 2\frac{1}{9}$$

$$3\frac{5}{7} + 2\frac{6}{7} = 3\frac{4}{7}$$

$$11) 2 \frac{6}{9} + \frac{7}{9} = 3 \frac{4}{9}$$

$$4 - \frac{3}{4} + 1 - \frac{1}{4} = 2$$

$$\boxed{5} \frac{1}{2} + 1 \frac{1}{2} = 2$$

$$\boxed{5} \frac{1}{2} + 1 \frac{1}{2} = 2 \qquad \boxed{3} \quad 1 \frac{4}{6} + \frac{4}{6} = 2 \frac{2}{6}$$

$$6 \frac{4}{7} + 1 \frac{4}{7} = 2 \frac{1}{7}$$

$$14 \quad 1 \quad \frac{5}{8} + \frac{1}{8} = 1 \quad \frac{6}{8}$$

$$\boxed{7} \frac{2}{3} + 3 \frac{2}{3} = 4 \frac{1}{3}$$
 $\boxed{5} 1 \frac{2}{9} + \frac{6}{9} = 1 \frac{8}{9}$

$$1 \frac{2}{9} + \frac{6}{9} = 1 \frac{8}{9}$$

$$1 \frac{4}{7} + \frac{3}{7} = 2$$

分数のたし算② (9)



$$1) \frac{2}{5} + 1 \frac{1}{5} = 1 \frac{3}{5} \quad 9 \quad 2 \frac{3}{5} + \frac{3}{5} = 3 \frac{1}{5}$$

9
$$2\frac{3}{5} + \frac{3}{5} = 3\frac{1}{5}$$

$$2\frac{1}{4}+1\frac{3}{4}=2$$

$$2 \frac{1}{4} + 1 \frac{3}{4} = 2 \qquad 10 \quad 1 \frac{2}{4} + \frac{3}{4} = 2 \frac{1}{4}$$

$$3\frac{3}{6} + 1\frac{5}{6} = 2\frac{2}{6}$$
 11 $2\frac{7}{9} + \frac{2}{9} = 3$

$$11) 2 \frac{7}{9} + \frac{2}{9} = 3$$

$$4 \frac{7}{9} + 3 \frac{5}{9} = 4 \frac{3}{9} \quad 12 \quad 2 \frac{4}{8} + \frac{3}{8} = 2 \frac{7}{8}$$

$$2 \frac{4}{8} + \frac{3}{8} = 2 \frac{7}{8}$$

$$\boxed{5} \frac{2}{7} + 1 \frac{4}{7} = 1 \frac{6}{7}$$

$$3 2 \frac{4}{6} + \frac{5}{6} = 3 \frac{3}{6}$$

$$6\frac{1}{2} + 3\frac{1}{2} = 2$$

$$6 \frac{1}{2} + 3 \frac{1}{2} = 4 \qquad 14 \quad 1 \frac{5}{7} + \frac{1}{7} = 1 \frac{6}{7}$$

$$\sqrt{3} + 2 \frac{2}{3} = 3$$

$$9\frac{1}{3} + 2\frac{2}{3} = 3$$
 (5) $1\frac{1}{5} + \frac{3}{5} = 1\frac{4}{5}$

$$8 \frac{7}{8} + 2 \frac{7}{8} = 3 \frac{6}{8}$$

$$1 \frac{4}{6} + \frac{2}{6} = 2$$

分数のたし算② (10)

$$1) \frac{3}{6} + 2 \frac{2}{6} = 2 \frac{5}{6} \quad 9 \quad 2 \frac{3}{4} + \frac{3}{4} = 3 \frac{2}{4}$$

9
$$2\frac{3}{4} + \frac{3}{4} = 3\frac{2}{4}$$

$$2\frac{2}{5}+1\frac{3}{5}=2$$

$$2\frac{2}{5} + 1\frac{3}{5} = 2 \qquad \text{(1)} \quad 3\frac{4}{5} + \frac{4}{5} = 4\frac{3}{5}$$

$$3\frac{5}{7} + 1\frac{4}{7} = 2\frac{2}{7}$$
 11 $3\frac{6}{9} + \frac{8}{9} = 4\frac{5}{9}$

$$11) 3 \frac{6}{9} + \frac{8}{9} = 4 \frac{5}{9}$$

$$4 \frac{7}{8} + 1 \frac{7}{8} = 2 \frac{6}{8} \quad 12 \quad 2 \frac{6}{7} + \frac{6}{7} = 3 \frac{5}{7}$$

$$2 \frac{6}{7} + \frac{6}{7} = 3 \frac{5}{7}$$

$$\boxed{5} \frac{2}{6} + 1 \frac{5}{6} = 1 \frac{7}{6}$$

$$\boxed{5} \quad \frac{2}{6} + 1 \quad \frac{5}{6} = 1 \quad \frac{7}{6} \quad \boxed{3} \quad 2 \quad \frac{4}{5} + \frac{4}{5} = 3 \quad \frac{3}{5}$$

$$6 \frac{2}{3} + 1 \frac{2}{3} = 2 \frac{1}{3} \quad 4 \quad 1 \frac{4}{8} + \frac{1}{8} = 1 \frac{5}{8}$$

$$14 \quad 1 \quad \frac{4}{8} + \frac{1}{8} = 1 \quad \frac{5}{8}$$

$$7\frac{2}{4}+1\frac{3}{4}=2\frac{1}{4}$$

$$\boxed{7} \frac{2}{4} + 1 \frac{3}{4} = 2 \frac{1}{4}$$
 $\boxed{5} 2 \frac{5}{6} + \frac{5}{6} = 3 \frac{4}{6}$

$$8 \frac{6}{7} + 2 \frac{2}{7} = 3 \frac{1}{7}$$
 $16 1 \frac{2}{3} + \frac{2}{3} = 2 \frac{1}{3}$

$$16 1 \frac{2}{3} + \frac{2}{3} = 2 \frac{1}{3}$$